- = Import ["D:\\Rescue\\Merken-nbs-mnbs\\Differentialgleichungen\\RLC_Diff_Ein2.jpg"]
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1= ClearAll[il, f@, Rg, Cc, L1, ue, uc, erg];

nf- = f@ = 5%”*3; Rg = 1%72; Cc = 100x"-9;
Ll1=1/ ((2*Pixf@)"~2xCc);

ue[t_] :=Sin[2 % Pi» fO +t];

1= erg = DSolve[{uc''[t] +Rg/Llxuc'[t] +uc[t] /L1/Cc-ue[t]/L1/Cc==9, uc'[O] =0, uc[@] =0}, uc[t], t] // Simplify

1
7 /400 — 72
5 e 500t (COS{SOGJT 400 - 12 t] (72 400 - 72 4 50"t (20+ \/400—712) COS[SOOJT (729+ 400 - nz) t] gSeer’t ( 20 + \/400—712)
COS[SOOJT (20+ \/400—712) t] 7e5%”2tn51n{509n (729+ \/400—712) t] eseer tnsln{seen (20+ 400 - nz) t]) +
Sin{seen /400 - 2 t] (—27T+(e5%”2tﬂ(:os{500ﬂ (729+ \/400—712) t] + 50 tnCos[seen (20+ 400 - nz) t] .
20 (e-“"%”ztSin{seen (729+ \/4097712) t] + €%t (400 _ 12 Sin{seen (729+ 400 - 7t ) t]
20 (e-“"%”ztSin{seen (20+ \/400—712) t] + €507t (400 _ 72 Sin{seen (20+ /400 - 72 ) t]))}}

mp= uc[t_1 =uc[t] /. erg[l];

outf J= {{uc[t] - -
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1= Plot[Ccxuc'[t], {t, @, 5/ f0}, AxesOrigin » {@, 0}, GridLines - Automatic,

GridLinesStyle - Directive [Orange, Dashed], PlotLabel -» " ", AxeslLabel - {}, PlotStyle » {Thin, Blue}, PlotRange - Full]
00101
o.oos:-
Outf~ J= -
i 0.9002 0.0004 0.0p06 0.0p08 0.0p10
-0.0105-

- Plot[uc[t], {t, @, 5/ f@}, AxesOrigin » {0, 0}, GridLines -» Automatic, GridLinesStyle -» Directive[Orange, Dashed],

PlotLabel » " ", AxesLabel - {}, PlotStyle -» {Thin, Blue}, PlotRange - Full]
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1= Plot[Ll*Cc*uc''[t], {t, @, 5/ f0}, AxesOrigin » {0, 0}, GridLines -» Automatic,

GridLinesStyle - Directive [Orange, Dashed], PlotLabel -» " ", AxeslLabel - {}, PlotStyle » {Thin, Blue}, PlotRange - Full]
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Out[+ J=

1= Plot[uc[t] + L1 xCc*uc''[t], {t, @, 5/ fB}, AxesOrigin » {0, 0}, GridLines -» Automatic,

GridLinesStyle - Directive [Orange, Dashed], PlotLabel -» " ", AxeslLabel - {}, PlotStyle » {Thin, Blue}, PlotRange - Full]
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Oull]= 0.2

n 1 L 1 t
0.0008 0.0010
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1= Plot[Rg * Cc xuc'[t], {t, @, 5/ fO@}, AxesOrigin » {0, 0}, GridLines - Automatic,

GridLinesStyle - Directive [Orange, Dashed], PlotLabel -» " ", AxeslLabel - {}, PlotStyle » {Thin, Blue}, PlotRange - Full]
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